
10-18-2023

(Discontinued) Catalyst / Spark Seating Dynamics Rocker

Back 



10-18-2023

This backrest style discontinued February 8th, 2021 For complete assemblies, select Dynamic Rocker Back (PAIR), Frame Attaching

Hardware Kit for Rocker Back (qty 2), choice of Depth Adj Rocker Back Tube Assembly (qty 2) OR Stroller Handle Back Post with

Extension Complete Assembly (qty 2) Low Profile Push Handles are not available with Heavy Duty Option or Drum Brake If changing

from another style backrest and the Drum Brake is present, a new Drum Brake Cable Kit may be required
 

Item Number Part Number Description Quantity

13 - 16 502596 Frame Attaching Hardware Kit for Rocker Back,
(One Side) Catalyst 1

3a ,4, 5, 12,
14, 16 502595 Depth Adj Rocker Back Tube Assm w/ Grip,

Short, One Side CAT 1

3b ,4, 5, 12,
14, 16 502594 Depth Adj Rocker Back Tube Assm w/ Grip, Tall,

One Side CAT 1

6, 7, 8a, 9,
10a, 12, 14,
16, 17

502597 Depth Adjustable Height Adjustable Rocker Back
Tube Assembly, 16" - 18" Back Height, One Side 1

6, 7, 8b, 9,
10a, 12, 14,
16, 17

502598 Depth Adjustable Height Adjustable Rocker Back
Tube Assembly, 19" - 22" Back Height, One Side 1

6, 7, 8c, 9, 10a,
12, 14, 16, 17 502599 Depth Adjustable Height Adjustable Rocker Back

Tube Assembly, 23" - 24" Back Height, One Side 1

8a, 9, 10a 501654 Depth Adjustable Height Adjustable Upper Push
Handle Short Assembly w/ Standard Grip 1

8b, 9, 10a 501655 Depth Adjustable Height Adjustable Upper Push
Handle Medium Assembly w/ Standard Grip 1

8c, 9, 10a 501656 Depth Adjustable Height Adjustable Upper Push
Handle Tall Assembly w/ Standard Grip 1

8a, 9, 10b 002762 Depth Adjustable Height Adjustable Upper Push
Handle Short Assembly w/ Low Profile Grip 1

8b, 9, 10b 002763 Depth Adjustable Height Adjustable Upper Push
Handle Medium Assembly w/ Low Profile Grip 1

8c, 9, 10b 002764 Depth Adjustable Height Adjustable Upper Push
Handle Tall Assembly w/ Low Profile Grip 1

3a, 9, 12, 14,
16, 18-24 114175 Stroller Handle Back Post with Extension

Complete Assembly, Short 1

3b, 9, 12, 14,
16, 18-24 114176 Stroller Handle Back Post with Extension

Complete Assembly, Tall 1

9, 18 - 24 500743 Stroller Handle Extension Assembly 1

9, 18 - 20 501653 Stroller Handle Extension Handle Assembly 1

3a, 21 - 24 503080 Stroller Handle Depth Adj Rocker Back Post
Assembly, Short CAT 1

3b, 21 - 24 503081 Stroller Handle Depth Adj Rocker Back Post
Assembly, Tall CAT 1

4 100804 Tube End Plug 1" 1

6 002039 Depth Adjustable Height Adjustable Rocker Back
Tube, Lower 1

7 000034 Sleeve 3/4" x 1 1/2" 1

9 100638 Tube End Plug 3/4" 1

10a 109432 Ergo Push Handle Grip 3/4" Standard with
Instruction 1



10-18-2023

Item Number Part Number Description Quantity

11 000605 Depth Adjustable Frame Extension Tube,
Catalyst/Spark 1

12 101810 M6 x 35 SHCS BLK ZC 2

13 101472 M6 x 45 SHCS BLK ZC 4

14 100746 M6 Flat Washer Blk Zn 13

15 100658 M6 Nylock Nut Blk Zn 2

16 100558 M6 NYL INS Domed Cap L/N ZC 4

17 101811 M6 x 35 BHCS Blk Zn 1

19 100533 Detent Button 1

22 000034 Sleeve 3/4" x 1 1/2" 1

23 000065 M6 x 23.68 Threaded Barrel 1

24 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2


